Flower necklace © Sulu

Make the central ring (A) first: 12 X 3.

Continue doing the first chain (B); 4-8-4, then ring (C) 4-4 attach to big ring, 4-4, new chain 4-8-4.
Do the clover (D) (sorry for the bad drawing), and continue with the chain (E - I), then ring (J).

Start chain (K), do 8 - 6. Here (orange arrow) you have to add 1 extra shuttle + thread. Shuttle A

+ thread a continues with the 3 last stitches of chain (K. Do a downwards picot at the pink arrow and
proceed to chain (L). Make a ring (M) 6 - 6 connect with the downwards picot 6 - 6, then chain (n) and
ring (0). Tie and cut. Go back to shuttle B and thread b and do chain (p) and the flower (Q). Use

split rings and climb out to do the chain. The chain consits solely of 4-4-4-4 split rings and 2 flower
like Q. I did 8 sr, flower, 7 sr, flower, 8 sr, lock, chain of suitable length and then a new flower.

For earrings make 1-2 ar and then a flower. For bracelet make enough sr to go from the lock on the
back of the wrist to the front, then a flower, then enough sr to go around again. Then a new flower and
st to the other part of the lock.

Feel free to add extra picots, pearls, more or less sr ete. If you post pics, just write what you added. :)






